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Section : General (English & Hindi)

Q1

Ans

Select the most appropriate synonym of the given word:

MANDATORY

« 1. Obligatory
/< 2. Optional
& 3. Uncommon
X 4 Unique

Question ID : 5096475753
Status : Answered
Chosen Option : 1

Q.2

Ans

Select the most appropriate synonym of the given word:

PREPOSTEROUS

2 1. Credible
X 2 Plausible
« 3. QOutrageous

/< 4 Qutgoing

Question ID : 5096475754
Status : Marked For Review
Chosen Option : 3

Q.3

Ans

Select the most appropriate option to fill in the blank:

Under the Turks, tenant farming was good business, but under the British was fast reaching a point of
diminishing returns.

> ﬂle}r
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V2 it
X 3 these
X 4 those

Question ID : 5096475747
Status : Answered
Chosen Option : 2
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Q4 Select the correctly spelt word:

Ans X 1. Niusance

' 2 Nuisance
/< 3 Nuisence

< 4 Nuiscence

Question ID : 5096475757
Status : Answered
Chosen Option : 2

Q5 Select the most appropriate option to fill in the blank;

I was late. I phoned my parents they worried about me.

Ans X 1. whereas

X 2 despite
W 3 in case
< 4 so that

Question ID : 5096475750
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option to fill in the blank:
The professor refused to proceed further ~ the students had completed the assignment.
Ans ?{" 1. if
& 2 because
+ 3. unless
# 4. so that

Question ID : 5096475749
Status : Answered

Chosen Option : 3
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Q7 Select the most appropriate option to fill in the blank:

Bhai Saheb is still weak due to the viral fever. But he better.

Ans ?(1- g(ﬂ
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W 2 is getting
X 3. gets
/A 4 was getting

Question ID : 5096475743
Status : Answered
Chosen Option : 3
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Qs
BENEFIT

Ans 1. Damage
X 2. Interest

/< 3. Advantage

/< 4. Favour

Select the most appropriate ANTONYM of the given word:

Question ID : 5096475755
Status : Answered
Chosen Option : 1

Q.9 gelect the correct passive form of the given sentence:

Scientists have discovered a trove of 44 planets in solar systems beyond our own.

Ans x 1.

A trove of scientists has been discovered by the 44 planets in solar systems beyond our own.

X 2

A trove of 44 scientists in solar systems beyond our own has been discovered by the planets.

X 3

A trove of 44 planets in solar systems beyond our own has discovered scientists.

W 4

A trove of 44 planets in solar systems beyond our own has been discovered by scientists.

Question ID : 5096475751
Status : Answered
Chosen Option : 4

Q.10 Select the option which is NOT an antonym of another word by way of adding the prefix ‘in-.

Ans X 1. Inarticulate
X 2 Insoluble
v 3 elusive
X 4 Ingratitude

Question ID : 5096475756
Status : Answered
Chosen Option : 3
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Q.11
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Ans
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Select the option that expresses the given sentence in reported speech.
“I can’t find the book you told me about,” My sister said to me.

My sister told me that:
/< 1. she couldn’t find the book you told her about.
/< 2. she can’t find the book vou told her about.

+ 3. she couldn’t find the book I told her about.
/< 4 1can’t find the book you told me about.

Question ID : 5096475761
Status : Answered
Chosen Option : 3

Q12 Select the most appropriate option to fill in the blank:

Ans

The body ofthe  man was found after a long search.
o 1. drowned
< 2. sinking
# 3 sunken

/< 4 drowning

Question ID : 5096475745
Status : Answered
Chosen Option : 3

Q13 gelect the most appropriate option to fill in the blank:

Ans

Ibrahim erected a small tent to protect from the scorching sun.

v 1. himself
& 2. themselves
X 3 itself

&< 4 oneself

Question ID : 5096475748
Status : Answered
Chosen Option : 1
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Q14 gelect the most appropriate option to fill in the blank:

Ans

From tomorrow, this shop closed for a month for renovation.

& 1. remained
A 2. remains
/< 3. has remained

W 4 will remain

r

N
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Question ID : 5096475744
Status : Answered
Chosen Option : 2
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Q.15 select the correct passive form of the given sentence:

The agents of the absentee landowners were serving eviction notices to the Arab peasants.

Ans x 1.

The agents of the absentee landowners were being served eviction notices by the Arab peasants.

W2

The Arab peasants were being served eviction notices by the agents of the absentee landowners.
p )

Eviction notices have been served by the agents of the absentee landowners to the Arab peasants.
< 4

Absentee landowners were being served eviction notices by the agents of the Arab peasants.

Question ID : 5096475752
Status : Answered
Chosen Option : 4

Q16 Select the INCORRECTLY spelt word:
Ans o 1. Tlleterate

& 2 Illuminate
X 3 Illegible

&< 4 Tllustration

Question ID : 5096475758
Status : Answered
Chosen Option : 3

Q.17 Inthe following sentence, four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

To rescue scores of migrant labourers in flood-ravaged Kerala, the Centre has undertaken a special evacuation plan for
taking 25,000 labourers to them home states by trains over this weekend.

Ans X' 1. has undertaken
2~ 2. over this weekend
+ 3. to them home states

X 4 Torescue

Question ID : 5096475760
Status : Answered
Chosen Option : 3
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Q.18 In the following sentence, four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options.

‘With dawn, the weather got a little better and the mountaineers decided go for the summit, still 2000 ft above them.

Ans ¢ g, got a little better

< 2. above them

« 3. decided go
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< 4 the mountaineers

Question ID : 5096475759
Status : Answered
Chosen Option : 3

Q.19 Selact the option that expresses the given sentence in direct speech.
The farmer advised his sons not to quarrel among themselves when he was dead but to remain united.

The farmer said to his sons:

Ans ‘,1_

“Don’t quarrel among yourselves when I am dead. Remain united.”
b )

“Don’t quarrel among themselves when I am dead. Remain united.”
p )

“Don’t gquarrel among yourselves when he was dead. Remain united.”
< 4

*“Not to quarrel among themselves when he was dead but to remain united.”

Question ID : 5096475762
Status : Answered
Chosen Option : 1

Q20 gelect the most appropriate option to fill in the blank:

In my country, cricketisthe ~ sport.
Ans o/ 1. most popular
/< 2. as popular
/< 3. more popular

X 4 popular

Question ID : 5096475746
Status : Answered
Chosen Option : 1

Q.21 ﬁﬁ?r e %‘
Ans x 1 3’1&

Question ID : 5096475782
Status : Answered
Chosen Option : 2

Q.22
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TS HET A F forr s gEEw g
Ans X1 BT BT IO
X 2 ST g 9T T@AT
X 3 gia He FE
v 4 29 @E F

Question ID : 5096475772
Status : Answered
Chosen Option : 4

P o + oy = oy #OE AT

Ans o prrs s
X2 gig ofer
X 3. 30T Wi
v 4 g F i

Question ID : 5096475776
Status : Answered
Chosen Option : 4

% P I = &7

Ans X 1. efrsr-ofter TEe wET A=A B
X 2 oligr-eier Tole ST g s=a
X 3. ofTgr-oitsT a==T Foled o ¢
v 4 T oTST-ATET T o9 2

Question ID : 5096475774
Status : Answered
Chosen Option : 4

Q.25 _- — ﬁ %:

Ans 1. TEITH HTelel

v 2 ofer 3T aTer
X3 org AT e

X 4 ore § HEA o

Question ID : 5096475779
Status : Answered
Chosen Option : 4
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Q.26 ? ﬁ' %:

Ans - :
X . gFeE A
X 2 e A
X 5. TR FHE
v 4 FOUT A
Question ID : 5096475778
Status : Answered
Chosen Option : 2
Q.27

ATy FT IFF U< &
Ans x’1_ ﬁ'!?ET

K 3 aitsar
v 4 s

Question ID : 5096475766
Status : Answered
Chosen Option : 4

Q.28 @Hmﬂﬁ%‘

Ans :

Question ID : 5096475767
Status : Answered
Chosen Option : 2
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e @1 g grE TEa TR @ wyE ¥

Ans ?{1- il E
V2 gl - R
K 3 FIHAT - FTHATT

X o o - o

Question ID : 5096475781
Status : Answered
Chosen Option : 4
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% Farly 1 fow Teww =
As X1 oy

2 FA

X o s

X 4 T

Question ID : 5096475764
Status : Answered
Chosen Option : 2

G eow @ 3R I f=oe T
ANS o1 By L oo
v+ oo
X3+ g
X4 B+ arrer

Question ID : 5096475775
Status : Answered
Chosen Option : 2

O3 Jumy EEE @ 3R W@, T el of-dr it # R
s X1 TEE R

X 2 GARiad FohTr ST
X 3 ITHET HAFR

v 4 FTAEERIOT HAER

Question ID : 5096475777
Status : Answered
Chosen Option : 3

O fyofeq @ T gomer A ¥ fw sRE A
e e e e o

X 2 gad H Tt 1 JgRT

73 37RO ST S5 FEN IS Hebell

K4 T AR G fER

Question ID : 5096475773
Status : Answered
Chosen Option : 1
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@ e =T ToEH w g m
Ans XK1 Gfyar

V2 Few

X3 T

X 4 FIEAT

Question ID : 5096475763
Status : Answered
Chosen Option : 2

Question ID : 5096475769
Status : Answered
Chosen Option : 4

Ans X1 9T: - 91T

Question ID : 5096475770
Status : Answered
Chosen Option : 4

=i AR AT JEeY w1 HY A
Ans 1. e IR FEET

X2 HTH @ 33T

X 3. Heofdes So ST

X 4 FT T AETET

Question ID : 5096475771
Status : Answered
Chosen Option : 1

Q.38
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TeE Vehaasl H IIed 2T &
Ans X 1. meefT
v 2 3T
X 3 TFEAT
X 4 T

Question ID : 5096475780
Status : Answered
Chosen Option : 2
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O SafafRe F wiF @ Jg9 a=

Ans  J 1. IMST
X2 7t
/< 3 HOT
X 4 FAT

Question ID : 5096475765
Status : Answered
Chosen Option : 2

Question ID : 5096475768
Status : Answered
Chosen Option : 4

Section : General Awareness

Q1 The Railway Minister of India is appointed by
Ans 1. the President; the Attorney-General
/< 2. the Prime Minister; the Attorney-General
/< 3. the Prime Minister; the Speaker of the Lok Sabha
« 4. the President; the Prime Minister

on the advice of

Question ID : 5096475798
Status : Answered
Chosen Option : 4
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a2 of the Constitution of India deals with the Panchayats.
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Ans
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& 1. Part XIII
X 2 Partll
W' 3 Part IX
& 4 Part XXII

Question ID : 5096475799
Status : Marked For Review
Chosen Option : 2

Q3 & & Teefm # T FiF @ 4 0w & T [ it T SR e v & @ v R

Ans

x 1 ﬂaﬂ;ﬁ'
A2 TR
v gefo
b Tt

Question ID : 5096475806
Status : Answered
Chosen Option : 1

Q4 TRl & @ T 99 F9E # TEE 75 F B0 T TR @ @A B o 37

Ans

K 1. 3T ST
X2 F¥ 3R BEe Fearor J@red

v 3 FET T T I 5 e
X 4 GO, I TF S IREaT AT

Question ID : 5096475785
Status : Marked For Review
Chosen Option : 1

Q5  Which of the following cities is located on the banks of river Sabarmati?

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S 1D200/15603366945003040/5313...

Ans X' 1. Anand

+ 2. Gandhinagar

< 3. Surat

< 4 Vadodara

Question ID : 5096475809
Status : Marked For Review
Chosen Option : 4

Q.6 Telangana government signed an MoU with for India’s first block chain district.
Ans

+ 1. Tech Mahindra
< 2 Infosys
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/&< 3. Wipro
X 4 TCS

Question ID : 5096475804
Status : Marked For Review
Chosen Option : 4

Q.7 with which country has India signed a protocol on 26™ November 2018 to amend Double Taxation Avoidance

Agreement (DTAA) for the avoidance of double taxation and for helping tax evasion?

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S 1D200/15603366945003040/5313...

Ans X' 1. France
+ 2 China
/< 3. Japan
X4 USA
Question ID : 5096475788
Status : Marked For Review
Chosen Option : 1
Qs submits his resignation to
Ans /1. A Tudge of a High Court; the President
/< 2. The Chief Minister; the Attorney-General
/< 3. The Chief Minister; the Prime Minister
/< 4 A Judge of a High Court: the Attorney-General
Question ID : 5096475800
Status : Marked For Review
Chosen Option : 4
@9 In which state is the ancient village Hampi located?
Ans o 1. Karnataka
< 2. Tamilnadu
/< 3. Andhra Pradesh
X 4 Kerala
Question ID : 5096475796
Status : Marked For Review
Chosen Option : 1
Q.10 According to of the Constitution of India. the law declared by the Supreme Court is binding on all courts within
the territory of India.
Ans

X 1. Article 120
W 2. Article 141
X 3. Article 97
& 4 Article 86

Question ID : 5096475802
Status : Answered
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B l Chosen Option : 2 ] B

Q11 The Nirmal paintings can be associated with which of the following states?
Ans X 1. Nagaland

X 2 Kerala

< 3. Mizoram

+ 4 Andhra Pradesh

Question ID : 5096475812
Status : Marked For Review
Chosen Option : 4

@12 which of the following sports is associated with ‘Ryder Cup’?

Ans X 1. Kabaddi
v 2 Golf
/< 3. Hockey
/< 4 Kho- Kho

Question ID : 5096475793
Status : Marked For Review
Chosen Option : 2

Q.13 Which ITT has won the DSCI Excellence Award 2018 for Cyber Security Education by the Data Security Council of
India, set up by NASSCOM?

Ans X 1. IIT Guwahati
/< 2. IIT Hyderabad

/&< 3 IIT Kanpur
« 4 IIT Kharagpur

Question ID : 5096475783
Status : Marked For Review
Chosen Option : 4

Q14 The distance covered by an object per unit time is called:
Ans X 1. Pressure

W 2. Speed

< 3. Motion

/< 4 Acceleration

Question ID : 5096475805
Status : Answered
Chosen Option : 2

Q.15 The Ghadar Party, a movement launched in 1913 during the Indian freedom struggle. had its headquarters in which of
the following cities?

Ans ' 1. San Francisco
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[ /< 2. Chicago

/< 3. Los Angeles
/< 4 Boston

Question ID : 5096475795
Status : Answered
Chosen Option : 2

Q.16 An ordinance promulgated under Article 123 of the Constitution of India can be withdrawn by:
Ans X 1. the Home Minister of India
X 2. the Attorney-General of India

/< 3. the Finance Minister of India
« 4 the President of India

Question ID : 5096475801
Status : Answered
Chosen Option : 2

Q.17 Which of the following sessions of the Indian National Congress was presided over by Mahatma Gandhi?

Ans 5 1. Delhi. 1923
/< 2. Kanpur. 1925
X 3. Guwahati, 1926
« 4 Belgaum, 1924

Question ID : 5096475794
Status : Marked For Review
Chosen Option : 3

@18 Tn which country was the tenth BRICS summit held in July 2018?
Ans X 1. Russia

X 2. China

< 3. Brazil

o 4 South Africa

Question ID : 5096475789
Status : Marked For Review
Chosen Option : 3

Q.19 The NITI Aayog has partnered with the startup on artificial intelligence, Perlin, to launch the AT 4 All Global
Hackathon’. This startup is based out of which country?

Ans

/< 1. Germany
« 2. Singapore
& 3. Canada
X 4 Israel

[ Question ID : 5096475787 ]
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Status : Marked For Review
Chosen Option : 4

Q.20 In which state has the government organised a Startup India venture capital summit in December 2018 with the theme
‘Mobilising Global Capital for Innovation in India’?

Ans X 1. Uttarakhand
/< 2. Chhattisgarh
v 3 Goa
/& 4 Nagaland

Question ID : 5096475786
Status : Marked For Review
Chosen Option : 1

Q.21 Which of the following tribes live their entire life migrating from one place to another in the Western Himalayas?

Ans X 1. Trulas
' 2. Bakarwals
X 3. Totos
X 4 Kodavas

Question ID : 5096475807
Status : Answered
Chosen Option : 2

Q.22 Who among the following is the Union Minister of Commerce as of April 20192
Ans 1. Arun Jaitley

# 2 Uma Bharti

/< 3 Smriti Irani

« 4 Suresh Prabhu

Question ID : 5096475803
Status : Marked For Review
Chosen Option : 4

Q.23  As per the 2011 Census, which one of the following is the state/union territory with the highest population density?
Ans X 1. West Bengal

X 2 Chandigarh

< 3. Bihar

V' 4 Delhi

Question ID : 5096475810
Status : Answered
Chosen Option : 4

Q24 Which is the highest peak in the Western Ghats?
Ans X 1. Doddabetta Peak
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< 2. Palni Hills
/< 3. Kolaribetta Peak
' 4 Anamudi Peak

Question ID : 5096475808
Status : Answered
Chosen Option : 4
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Q25 Which city is supposed to host the Olympic Games in 20207
Ans /1. Tokyo

X 2. Los Angeles

X 3 Paris

& 4 Beijing

Question ID : 5096475791
Status : Marked For Review
Chosen Option : 4

Q.26 1n which country was the Yoga event “Yoga for Peace” held in November 2018?
Ans X 1. Brazil

< 2 Thailand

W 3. Argentina

# 4 Indonesia

Question ID : 5096475790
Status : Marked For Review
Chosen Option : 4

Q.27 With which Sikh Guru is the famous Bangla Sahib Gurudwara of Delhi associated?
Ans 1. Guru Har Krishan

X 2. Guru Arjun

/< 3. Guru Tegh Bahadur

# 4 Guru Har Govind

Question ID : 5096475797
Status : Marked For Review
Chosen Option : 2
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X3 g
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Question ID : 5096475811
Status : Marked For Review
Chosen Option : 2

Q.29 Tn which city was the three-day Military Literature Festival (MLF) 2018 held in December 2018?
Ans 1. Jaipur

« 2. Chandigarh

X 3. Kanpur

/< 4 Bhopal

Question ID : 5096475784
Status : Marked For Review
Chosen Option : 2

Q30 1 which sport did Rahi Sarnobat win gold medal in the Asian Games 20187
Ans 5 1. Wrestling

X 2 Athletics

/< 3. Boxing

« 4 Shooting

Question ID : 5096475792
Status : Marked For Review
Chosen Option : 4

Section : General Aptitude

@1 Select the option that will come next in the following sequence.

13, 36, 69, 112, ?
Ans X1 148

V2 165

X 3 119

< 4123

Question ID : 5096475817
Status : Marked For Review
Chosen Option : 2

Q.2 Two vessels A and B contain spirit and water in the ratio 2 : 3 and 4 : 7 respectively. Their contents are mixed in the
ratio 5 : 11. In 160 ml of this solution, how much spirit should be added to make it a solution of spirit and water in the
ratio 7 : 102

Ans X' 1. 20 ml
X 2 15ml
& 3 sml
' 4 10ml

Question ID : 5096475840
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Status : Marked For Review
Chosen Option : 3
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@3 The total number of factors of 25 X 203 x 215 is:
Ans o 1. 1728

X 2 576

X 3 825

X4 144

Question ID : 5096475833
Status : Marked For Review
Chosen Option : 1

Q4 Select the word that will come next in the following sequence.

Advertisement. Screening, Interview, Recruitment, ?
Ans 1. Training
+ 2. Induction
< 3. Layoff

2 4 Termination

Question ID : 5096475818
Status : Answered
Chosen Option : 2

Q.5 From the given alternatives, select the word that CANNOT be formed using the letters of the given word only as many
times as they appear in the word.

NEWSPAPER

Ans X' 1. WASP
X 2. WEEP
X 3 SPEAR
+ 4 PREPARE

Question ID : 5096475826
Status : Answered
Chosen Option : 4

Q.6 If 13 January 1978 was a Friday. then what day was it on 30 January in the same year?
Ans X 1. Tuesday

X 2. Wednesday
/< 3 Sunday
' 4 Monday

Question ID : 5096475822
Status : Answered
Chosen Option : 4
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Ans
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@7 Ifa:b=3:5.then (8a— 2b) : (8a+ 3b) is equal to:

36
49
36
37
14
39

39
49

b 0

b )

Question ID : 5096475836
Status : Marked For Review
Chosen Option : 3

Q.8 The average of 41 numbers is 62. The average of the first 21 numbers is 58 and the average of the last 21 numbers is 68.

Ans

If the 21 number is excluded, what is the average of the remaining numbers?

X 1. 60.25
X 2 62.85
V'3 60.95
X 4 61.75

Question ID : 5096475838
Status : Marked For Review
Chosen Option : 4

Q9 Arrange the following words in a meaningful order.

Ans

Encoding

Channel

Message

Decoding

Sender

Receiver

2

3

1

4

6

5

X13.52.4.1,6
V2621354
%3 26,13 4%
X4 4.5326.1

Question ID : 5096475815
Status : Answered
Chosen Option : 2

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S 1D200/15603366945003040/5313...

Q.10 Select the option that is related to the third number in the same way as the second number is related to the first number.

Ans

B 13150152

X 1. 240
2 245
X3 243
X 4 241

I

Question ID : 5096475820
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Status : Marked For Review
Chosen Option : 2
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Q.11 The efficiency of A is 40 % less than the efficiency of B. Working together, they can finish a certain piece of work in 15
days. In how many days A alone will complete 40 % of that same work?

Ans ?{1_ 25
<218
X 3 20
V416

Question ID : 5096475842
Status : Marked For Review
Chosen Option : 2

Q.12 shanti is Banu’s daughter. Banu is Chirag’s mother. Deepak is Chirag’s brother. How is Deepak related to Sharti?

Ans 1. Brother
X 2 Son
/< 3 Grandfather
& 4 Father

Question ID : 5096475827
Status : Answered
Chosen Option : 1

Q.13 Select the option that is related to the third term in the same way as the second term is related to the first term.
Gladiator : Rome :: Matador : ?
Ans 1. France

& 2. Germany
/< 3. Portugal

W 4 Spain

Question ID : 5096475813
Status : Marked For Review
Chosen Option : 1

Q.14 A sum of T 16800 is invested for 15 months at the rate of 12 % per annum when the interest is compounded 5 monthly.

‘What is the percentage increase in the sum at the end of 15 months, correct to one decimal place?
Ans  of 1. 15.8%
< 215.5%
X8, 15.2%
<4 16.2%

Question ID : 5096475837
Status : Marked For Review
Chosen Option : 4
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What will be the value of the following expression if *+" means ‘addition’, *+’ means ‘subtraction’, ‘—" means
‘multiplication” and *** means ‘division’?

105%x5-3+4+6

Ans ?{1_ 58
X2 43
X332
v 4 61

Question ID : 5096475821
Status : Answered
Chosen Option : 4

Q.16 Tn a code language, BAT is written as 58. In the same language, how will you write BLUE?
Ans ?<. 1. 72

X242

V'3 68

X4 53

Question ID : 5096475819
Status : Answered
Chosen Option : 3

=
Q.17 What is the sum of digits of the least number that should be added to 58692 to make it a perfect square?

Ans ?{1_ 16
X217
V3 15
X414

Question ID : 5096475828
Status : Answered
Chosen Option : 4

Q18 Arrange the following in a meaningful sequence:

1. Disease

2. Buy Medicine
3. Doctor

4. Mediecal Shop

Ans  of 191,34, 2
X299 4.2
K3 1,324
X43,1,2,4

Question ID : 5096475825
Status : Answered
Chosen Option : 2
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and remaining at 30 % discount on the marked price. What is his overall gain percent?

Ans X 1. 23.4%

w2 215%
X3 228%
X 4 245%

] Q.19 A person marks his goods 50 % above the cost price. He sells 35% of goods at 10 % discount, 40 % at 20% discount

Question ID : 5096475839
Status : Answered
Chosen Option : 3

wife of Kabir. How is Bhavesh related to Tusharika?

Ans (1_ Son

X 2. Grandson
& 3 Uncle
/< 4 Nephew

Q.20 Dhruv is the brother of Bhavesh: Mohan is the brother of Bhavesh; Kabir is the father of Mohan; and Tusharika is the

Question ID : 5096475824
Status : Answered
Chosen Option : 1

w27
X309
X 41

Q.21 With which digit should letter ‘v in the number 833x25 be substituted so that the number becomes divisible by 157

Ans ?{: 1. 4

Question ID : 5096475835
Status : Marked For Review
Chosen Option : 4

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S 1D200/15603366945003040/5313...

Q.2

i

i

2 The sum of the first 10 terms 0f5 i 3

Ans 8

K1
45
2
45
£
205
11

245

W2

X 3

> 4

9x13

13 X 17

is:

Question ID : 5096475829
Status : Answered
Chosen Option : 4
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Q.23 4/5-5v3
445 + 543

Ans (1_ =]
X2 -4
K31
X4 4

a+ b+/15, then the value of (a + 4b) is:

Question ID : 5096475831
Status : Marked For Review
Chosen Option : 4

Q.24 A.B.C.D.E.F and G are seven friends sitting around a round table and playing cards. D is not sitting immediately
beside F. D is sitting second to the right of E. who is sitting second to the right side of B. C is sitting third to the right of
G and second to the left of A. Who is sitting immediately to the right of B?

Ans x 1. &
b )
W 3
> 4

G ey i

Question ID : 5096475823
Status : Answered
Chosen Option : 3

2% The unit’s digit in the result of (24)%* + (47)** —(23)** is:
Ans ?{: 1. 4

X2 2

V'3 g

X406

Question ID : 5096475830
Status : Answered
Chosen Option : 2

a2 The value of 0.5 +0.623 — 0.49 is equal to:

X1 0674
<2 0664
# 3.0.686
V4. 0678

Ans

Question ID : 5096475832
Status : Answered
Chosen Option : 1

Q.27 The HCF of two numbers is 23 and their product is 9522. How many such pairs of numbers are possible?

Ans ?{1_ 5
<23
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— 3 1 —
W 42

Question ID : 5096475834
Status : Marked For Review
Chosen Option : 3

Q.28 Select the option that is related to the third number in the same way as the second number is related to the first number.
444:4::636: 7

Ans ?{1_ 16
w26
<3 13
X409

Question ID : 5096475814
Status : Marked For Review
Chosen Option : 2

Q.29 Arrange the following words in the order in which they appear in an English dictionary.

Uniform Unicorn Umbrella | Utmost Update
3 5 2 1 B

Ans  x1.3,5.4,2.1
V225341
¥ 33841
X 44,3521

Question ID : 5096475816
Status : Answered
Chosen Option : 2

Q.30 4 person covers 3 th of his journey at the speed of 30 km/h and remaining at 40 km/h. What is his average speed for
the whole journey, in km/h correct to one decimal place?

Ans X1 318
X2 325
V'3 331
< 4 35

Question ID : 5096475841
Status : Answered
Chosen Option : 4

Section : Teaching Aptitude

Q.1 Inspecial education, the intervention that is designed to keep potential or minor problems at bay is called:
Ans

& 1. tertiary prevention
/& 2. secondary intervention

< 3. remedial intervention
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W 4 preventive intervention

Question ID : 5096475862
Status : Marked For Review
Chosen Option : 3

Q.2 According to Weisman’s Theory of Heredity, which of the following statement holds true?

Ans x 1.

Struggle for existence and survival of the fittest are the two most important aspects for reproduction.

W2

It is the germ plasma that is transmitted from generation to generation.
> 3

Heredity does not go to immediate parents but remote ancestors.
X 4

The cause of variation in the offspring is due to dominant and recessive genes.

Question ID : 5096475845
Status : Marked For Review
Chosen Option : 2

@3 In philosophy. knowledge of the reality or truth is called:

Ans X 1. Theodicy
X 2. Epistemology
« 3. Metaphysics

X 4 Ethics
Question ID : 5096475860
Status : Marked For Review
Chosen Option : 2
Q.4 The Golden Ratio is an example of relationship between Mathematics and . (Select the correct option to fill in
the blank.)

Ans X 1. Civics
& 2 Communication
V'3 Art
X< 4 Health and Physical Education

Question ID : 5096475851
Status : Answered
Chosen Option : 3

@5 YWhich article ensures the right to equality for women?

Ans 1. Article 14
< 2. Article 15 (1)
X 3 Article 16
/X 4 Article 15 (3)
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Question ID : 5096475856
Status : Marked For Review
Chosen Option : 4
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Q.6 The society or custom in which a married couple settles with or near the husband’s family is known as a:

Ans X 1. autocratic society

W 2. patrilocal society
/< 3. patriarchal society
/< 4 matriarchal society

Question ID : 5096475855
Status : Answered
Chosen Option : 3

Q.7 The natural ability to learn a language, NOT due to interest, motivation and so on, is known as:

Ans

/< 1. language attitude
/X 2 language ability
« 3. language aptitude

X 4 language sense

Question ID : 5096475849
Status : Marked For Review
Chosen Option : 2

Q.8 The counselling in which emotional elements are more stressed on than intellectual elements is known as:

Ans X 1. systematic desensitisation

o 2. permissive counselling

/< 3. aversive therapy

/X 4 cognitive behaviour therapy

Question ID : 5096475861
Status : Marked For Review
Chosen Option : 4

Q.9

Which of the following is NOT a quality of moral development?
Ans 1. Reliability

« 2. Yielding in action

< 3. Self-control

/& 4 Consciousness

Question ID : 5096475844
Status : Marked For Review
Chosen Option : 1
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] Q10 Which of the following DOES NOT come under the affective domain of Bloom’s Taxonomy?
Ans % 1. Receiving
X 2 Valuing

+ 3. Imitation
/< 4 Responding

Question ID : 5096475848
Status : Marked For Review
Chosen Option : 3

Q.11 Under Flander’s Interaction Analysis Category System of what happens in a classroom when a teacher teaches, the
teacher’s talk is put under how many categories?

Ans ‘,1_ 7
X2 4
<31
X 42

Question ID : 5096475858
Status : Marked For Review
Chosen Option : 2

Q12 Which of the following is NOT a component of the skills of stimulus variation?
Ans o 1. Positive verbal reinforcement
7 2. Sensory focus

/< 3. Pupils’ movement

/X 4 Teacher’s gesture

Question ID : 5096475852
Status : Marked For Review
Chosen Option : 3

Q.13 A teacher asks the students the following set of questions. On the basis of these questions, identify the practice adopted
by the teacher in this scenario.

‘What are the main points of this reading?
Was anything confusing or unclear?
‘What was new to you?

Did it change the way you think?

Ans /1. Reading reflection
/X 2 Passive reading method
X 3. Scaffolding
&< 4 SQ3R

Question ID : 5096475859
Status : Marked For Review
Chosen Option : 4

Q.14 The economic, social and political responsibilities that are considered appropriate for men and women in a culture is
known as:

Ans
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/< 1. gender awareness
X 2. gender equity
X 3. gender equality

o 4 gender role

Question ID : 5096475854
Status : Answered
Chosen Option : 2
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Q18 Which of the following CANNOT be identified as development?
Ans 5 1. Grasping

+ 2 Increase in weight

# 3. Hopping

/< 4 Walking

Question ID : 5096475843
Status : Answered
Chosen Option : 4

Q16 YWhich of the following is NOT an element of communication?

Ans o 1. Interaction
& 2. Context
X 3. Message

/< 4 Symbol

Question ID : 5096475850
Status : Answered
Chosen Option : 2

Q17 Which of the following is NOT a component of explaining science while teaching?
Ans 1. Cognitive links

+ 2. Rote repetition

< 3 Use of illustrations

/< 4 Compare and contrast

Question ID : 5096475857
Status : Answered
Chosen Option : 2

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S 1D200/15603366945003040/5313...

Q.18 Anand is a 10-year-old boy who enjoys reading. writing and putting puzzles together and recognises pictures and
patterns easily. Considering Howard Gardner MI theory, which Intelligence is dominating in Anand as per the given
description?

Ans

X 1. Interpersonal
X 2. Bodily—kinaesthetic
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« 3. Visual-Spatial
X 4 Linguistic—Verbal

Question ID : 5096475847
Status : Marked For Review
Chosen Option : 3
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Q19 YWhich of the following is NOT an aspect or attribute of intelligence?
Ans o 1. Concrete

XK 2 Level

/< 3. Range

< 4 Area

Question ID : 5096475846
Status : Answered
Chosen Option : 1

Q.20 Which of the following is an example of the correct way of writing general instructional objectives in science?
Ans 1. To provide knowledge on Earth’s magnetic field
X 2
The pupil acquires knowledge and understands the properties of ozone
« 3. The pupil acquires knowledge about photosynthesis

7 4 The class develops skill in drawing and labelling

Question ID : 5096475853
Status : Marked For Review
Chosen Option : 4

Section : Concerned Subject Knowledge

Q1 JavaScriptisa/an  language.
Ans X 1. machine

W 2. interpreted

X 3. system

& 4 compiled

Question ID : 5096475908
Status : Answered
Chosen Option : 2
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Q.2 Which of the following are universal gates that can be used to realise the function of any combinational circuit?

Ans o 1. NAND and NOR
# 2 AND and OR
& 3. AND and XOR
& 4 OR and XNOR
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